
Answers

 p(q) = 26 q
            p(2) = 26 × 2 = 52
3.

    a(b) = 5b 
      a(7) = 5 × 7

         = 5 × 7
                     = 5 × 49 = 245 

4. b-5

7-5

2

          p(q) = 4q  + 9q 
                p(-8) = 4(-8) + 9(-8)

       = -32 + (-72)
             = -32 - 72 = -104

5. 2

          m(h) = (h      )(h      )
       m(5) = (5     )(5     )

          = 5 × 5  = 125 × 5 = 625

1. h-2 6-h

5-2 6-5

3 1

2             a(b) = (5 - b )  b
            a(3) = (5 -3 )  3

= (125 - 9) × 
      = 116 ×     = 38.66

2. . -1b
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3

1
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          a(b) = (b + 3) ÷ 2
        a(2) = (2 + 3)   ÷ 2

       = (4+3) ÷ 2 
            = 49 ÷ 2 = 24.5

7. b b

2 2
12.               m(n) = (n    )(n    ) 
     m(3) =(3   )(3    )
            = (3  )(3   )

        = 9 × 1  = 3
 

n-1 2-n

3-1 2-3

2   -1

3

             a(b) = 2b + 7b 
    a(-6) = 2(-6) + 7(-6)
= -12 +(-42) = -12-42

= -54

11.
2

6.   f(x) =(x      )
       f(-5) = (-5      )

           = (-5    ) 
                = (-5)  = 625

2(x + 7)

(-5 + 7)

(2) 2

4

8. y(z) = 2
y(4) = 2

               = 2        = 2
       = 1024

4z - 2z + 1

4(4) - 2(4) + 1

16 - 8 + 1 9

2
    a(b) = b ÷ b  b

    a(5) = 5  ÷ 5   5
a(5) = 3125 ÷ 5

= 3125÷ 5 =3125 ÷ 5
= 3125 ÷ 625 = 5

9. 2. 2b

5 2.
2+2

4

2     n(m) = 13m ÷ m
   n(-4) = 13(-4) ÷(-4)

= 13 × 16 ÷ 16
= 208 ÷ 16 =13

10. 2

2 2

      y(z) = (z     )
       y(-3)=(-3     )

            = (-3 )= -3    = -3
= 81

13. (z+5) 2

(-3+5) 2

2 2 (2×2) 4

14. 2 2      a(b) =  b -    b
    a(10) = 10  -

              = 100 - 5(10)
                  =100 - 50 = 50   

5
10
2 5 (10×10)

10

m(n) = 2 
m(2) = 2

        m(2) = 2 =32 

15. 2n +1

2(2) +1

5

625

245

52

-104

38.66

-54

649

44

260
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265
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13

1024
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15

58

45
50

1000

68
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